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Follow-up Extraction, Raising, Control



1.
Bha
Iain
ag
ithe
ubhlan
gu  luath.


be.past
John
prog
eat.vn
apple.fem.pl
quickly


"John was quickly eating apples."


NOTE: Trying to see if can have adverbial after subject as with "always/quickly" when verb split. This sentence wasn't natural for Muriel, more natural to say ann an cabhag "in a hurry"(as shown in 1a) rather than gu  luath 'quickly".
1a.
Bha
Iain
ag
ithe
ubhlan
ann
an
cabhag.


be.past
John
prog
eat.vn
apple.fem.pl
in
a
hurry


"John was quickly eating apples."


NOTE: This has the sense of eating the apples in a hurry. Can also move ann an cabhag "in a hurry" after "John" as in 1b, but the sense changes (see below).
1b.
Bha
Iain
ann
an
cabhag
ag
ithe
ubhlan.


be.past
John
in
a
hurry
prog
eat.vn
apple.fem.pl

"John was quickly eating apples."


NOTE: This has the sense of "John was in a hurry and happened to be eating apples."
1c.
*Ann
an
cabhag
Bha
Iain
ag
ithe
ubhlan


in
a
hurry
be.past
John
prog
eat.vn
apple.fem.pl

"John was quickly eating apples."


NOTE: Ungrammatical to put ann an cabhag "in a hurry" at beginning of sentence.

Note: Ungrammatical
2.
Bha
Iain
a'
feuchainn
ri
innse
mu  dheidhim


be.past
John
prog
try.vn
to
tell.vn
about


agos
ri
canntail
gu
robh
e
duilich.


and
to
say.vn
that
be.pres.dep
3sm
sorry


"John was trying to explain and (to) apologize."


NOTE: This is follow-up to 15 from 2/26/2008 to see if ri "to" is repeated in coordinate clause. Trying to determine constituency of ri "to", i.e. is it  associated with feuchainn "try.vn" or .vn that follows it. Could possibly drop second ri, especially in fast speech, but would ordinarily put it in. However, syntactically seems to be associated with subsequent .vn. (Originally  asked "John painted this picture trying to express something and to impress Mary" but Muriel was unable to translate because would use different construction for "impress". In the dictionary, the words that came up for "impress" included something to do with sheep [marking them with paint to identify their owners, I think -- hh] and then stamp.)

Note: Purpose Clause
3.
Chunnaic
thu
am
balach
a
bhruidhinn


see.past
2.sg
the.masc.sg
boy.masc.sg
rel
speak.past

ri
co
an  dè.


to
who
yesterday


"You saw the boy who talked to who yesterday?"


NOTE: Follow-up to 17 from 2/26/2008 to see if co "who" can remain in situ. Per Muriel, this construction has the sense of an echo question rather than a direct question. am balach "the boy" used here and an gille "the boy" used in 4 are varieties from two different regions. On Skye tend to say gille, while the Outer Hebrides use balach.
4.
Co
ris
a
bha
an
gille
a’
bruidhinn.


who
to
comp
be.past
the.masc.sg
boy.masc.sg
prog
speak.vn

"To whom was the boy speaking?"


NOTE: Lenition between bhruidhinn "talk.past" in 3 and bruidhinn "talk.vn" in 4. In declarative, ri comes before co, but in question it comes after. Can also say ri co "to whom" (as in 4'), but that has sense of echo question whereas co ris "who to" is a direct question.

NOTE: PPI
4.
Ri
co
a
bha
an
gille
a’
bruidhinn.


to
who
comp
be.past
the.masc.sg
boy.masc.sg
prog
speak.vn

"To whom was the boy speaking?"


NOTE: Echo question interpretation with ri co whereas co ris "who to" (in 4) is a direct question.
5.
Co
ris
a
bhruidhinn
am
balach.


who
to
comp
speak.past
the.masc.sg
boy.masc.sg

"To whom did the boy speak?"


NOTE: Again, can also say ri co "to whom", but that has sense of echo question whereas co ris "who to" is a direct question. The echo question construction seems a little less natural to Muriel in 5 than it does in 4. 


NOTE: PPI

5.
Ri
co
a
bhruidhinn
am
balach.


to
who
comp
speak.past
the.masc.sg
boy.masc.sg

"To whom did the boy speak?"


NOTE: Echo question interpretation with ri co whereas co ris "who to" (in 5) is a direct question.The echo question construction seems a little less natural to Muriel in 5 than it does in 4. 
Raising and Control
6.
Tha
Iain
ag
iarraidh
a
bhith
math.


be.pres
John
prog
want.vn
tran
be.inf
good


"John wants to be good."


NOTE: Not sure how to gloss a bhith – infinitive form? Think infinitive and verbal noun may share same form. 
7.
Tha
Iain
ag
iarraidh
gum
bi
Mairi
math.


be.pres
John
prog
want.vn
that
be.fut
Mary
good


"John wants Mary to be good."


NOTE: If replace Mairi "Mary" with e "3sg.masc" means "him" or "it" but cannot refer to John himself without adding emphatic. (Need to clarify whether Muriel meant emphatic or reflexive here since the reflexive is sometimes used emphatically.) 
7'.
Tha
Iain
ag
iarraidh
gum
bi
e
math.


be.pres
John
prog
want.vn
that
be.fut
3sm
good


"John wants him to be good."


NOTE: "Him" cannot refer to John himself without adding emphatic. (Need to clarify whether Muriel meant emphatic or reflexive here since the reflexive is sometimes used emphatically.) 
8.
Tha
Iain
ag
iarraidh
gum
bi
i/ise
math.


be.pres
John
prog
want.vn
that
be.fut
3.sg.fem/emph
good


"John wants her to be good."

9.
Gheàll
Brian
do/gu
Anna
gun
tionndaidheach
e


promise.past
Brian
to
Anna
that
turn.cond
3sm

dhe(th)
a'
stòv.


of/off.3.sg
the
stove


"Brian promised Anna to turn off the stove


NOTE: do and gu are interchangeable for "to". Muriel says that "of" and "off" are the same. 
Note: Object Shift/Inverted nominal
10.
Thug
Brian
air
Anna
a
stòv
a
thionndadh
dheth


force.past
Brian
on
Anna
the
stove
tran
turn.vn
of/off.3.sg

"Brian made Anna turn off the stove."


NOTE: The original sentence given to Muriel was "Brian persuaded Anna . . ." which she had difficulty forming, so the verb was changed to "made". thug has several different meanings, e.g. "give", "take", "bring" depending on the preposition which follows. Here it has the sense of "force". 
Note: Object Shift/Inverted nominal
11.
Dhearbh
Brian
air
Anna
a
stòv
a'
thionndadh
dheth


convince.past
Brian
on
Anna
the
stove
tran
turn.vn
off.3.sg

"Brian convinced Anna to turn off the stove."


NOTE: Dhearbh has the dictionary meaning "convince" but Muriel said her natural use of the verb would be more like "he swore he did it," as used in 12.

Note: Object Shift/Inverted nominal
12.
Dhearbh
e
gun  d'
rinn
e
a'
cheic


swear.past
3sm
that
make.past
3sm
the
cake


e
fheinn


3sm
self


"He swore he made the cake himself."

12a.
Dhearbh
e
gur
e
fheinn
a
rinn
a'
cheic


swear.past
3sm
that
3sm
self
wh-C
make.past
the
cake


"He swore that he himself made the cake."


NOTE: More emphatic than 12; "it is himself" who made the cake.
13.
Dh'iarr
Iain
air
Mairi
fuìreach


ask.past
John
on
Mary
live/stay/wait.vn

"John asked Mary to stay."

14.
Dh'iarr
Iain
air
Mairi
bruidhinn
ri
Brian.


ask.past
John
on
Mary
speak.vn
to
Brian


"John asked Mary to speak to Brian."


NOTE: This sentence seems to be a control construction, unlike the similar sentence in 15. Muriel says dh'iarr "ask.past" is a "bossy" form, strict with rules.
15.
Dh'fhainich
Iain
dhe
Mairi
am
bruidhinneadh


ask.2.past
John
of
Mary
comp.interrog
speak.cond

i
ri
Brian.


she
to
Brian


"John asked Mary if she would speak to Brian."


NOTE: This sentence is slightly more polite than 14; less definite. Rather than a control construction, this seems to be a complement clause with an embedded question. comp.interrog = complementizer interrogative.
16.
Thòisich
Iain
air
an
dealbh
a
pheintadh.


begin.past
John
on
the
picture
3.sg.gen
paint.vn

"John began to paint the picture."

Note: Object Shift/Inverted nominal
17.
Thòisich
clachan
a'
tuiteam
dhen
a'
chreag.


begin.past
rock.pl
prog
fall.vn
off
the
cliff


"Rocks began to fall off the cliff."


NOTE: Because "begin" can be either agentive (doing something on purpose) or raising, solicited sentence with inanimate subject which cannot be agentive to make sure getting raising construction (i.e. rocks can't do anything on purpose).
18.
Tha
e
coltach
gu
bheil
Iain
a'


be.pres
3sm
likely
that
be.pres.dep
John
prog

peintadh
dealbh.


paint.vn
picture


"It is likely that John is painting a picture."

NNote: Progressive
19.
Chanainn-sa
gum
bitheadh
Iain


say.subj.1.sg-emph
that
be.subj
John


a'
tarraing
dhealbhan.


prog
draw.vn
picture.pl

"I would say that John would be drawing pictures."


NOTE: Asked Muriel to produce "John is likely to be painting pictures," but she didn't feel was very natural. This is the way she would prefer to say it, although 20 is an attempt at the original sentence.
20.
Tha
Iain
buailteach
a
bhith
a'
peintadh
deabhan.


be.pres
John
likely
to
be.vn
prog
paint.vn
picture.pl

"John is likely to be painting pictures."


NOTE: This sentence does not feel natural to Muriel at all. It seems as though an English structure is being imposed on Gaelic.
